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1. Choose the word that best fits in the blank.

A country’s leader must possess

and confusion.

, the ability to fixate on a

simple conviction and grip it, viscerally and unflinchingly, through complexity

@ flexibility
(@ adaptability
® credibility

@ tenacity

@ versatility

A tenacity : I, 7], &3, BF Ao

of - fixate : SAlsteh, (WA OR) AASieh  viscerally : (Mo]) WS FW sl
kol A A, Bs A (o] A A) 2 ®  unflinchingly : w3lA &3, &=¢]
A erw, HEFEA ¢k, w53 of. flinch @ FEstH #HE Wd, BFY wioh
versatility : thelthal (%F), W5 o] AFES

A g ek AEAs 27, ded Agel AEbstn = EAgy Eus ¥1
BEAoluxr 3|4 91 23S AL F st $8L sh- ok g}
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2. Which of the following is closest in meaning to the underlined part?

Rawls burst into prominence in 1958 with the publication of his
game—changing paper, ‘Justice as Fairness.” Though it was not his first
important publication, it revived the social contract theory that had been
languishing in the wake of Hume's critique and its denigration by utilitarians
and pragmatists, though it was a Kantian version of it that Rawls advocated.
This led to a greatly developed book version, A 7heory of Justice, published
in 1971, arguably the most important book of American philosophy published

in the second half of the last century.

@D laudation @ impugnment
@ homage @ exuberance
(® sobriety
a4 (1) denigration : ©®E3¥, W< v) denigrate : AA stth, ©Hs|h, &
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M

shoh, (1A g 5&) &St

(2) impugnment : v|wt | FA, =%, wjA, ¥kE v) impugn @ ¥]wH(
v A wkeb) st} of. pugnacious : Aest7] Folste

burst : A7l ~gk Aej7F = ch(into), A7l ~3kth  prominence @ E7], &
(&), F=8A, 94, 2&, A%, 9% game—changing : A (3 =)E n}
T=(FAE) revive @ F&(&£A)AFIth social contract theory : A3 Al <FE
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3. Choose the word that best fits in the blank.

ZMapp is created by injecting plants with a genetically modified virus. This
causes the plant cells to produce for the Ebola virus, which

scientists then extract and purify. ZMapp has been given to several
individuals; however, it is relatively untested, and its safety and efficacy are

not known.
@D microbes @ vermin
@ toxicants @ antibodies

(® detriments

il
o
>

3l produce antibodies for the Ebola virus : o] &2} slo]z] x| o3t 3tA|
slct
o]+  inject : F

extract @ &

sttt genetically modified : FAF 22 W%  antibody : A
sttt purify @ =3 3h)slch, AAstet untested @ AFE A @&

2
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4., Which of the following is NOT grammatically correct?

Something similar can be said Dof other cherished goods and practices.
Consider the rights and obligations of citizenship. If you are called @to jury
duty, you may not hire @substitute to take your place. @Nor do we allow
citizens to seel their votes, even though (®others might be eager to buy

them.

A4 @ substitute = a substitute : “h2](l), o]t oulE Zt= HEF HAIR
AbgE A golth



5. Which of the following best fits in the blank?

Most cases of emotional maladjustment are due to the fact that people will
not accept themselves. They keep daydreaming about if they

had another’s chance. And so, disregarding their own possibilities, they never
make anything worthwhile out of themselves. Well, anybody can find
sufficient cause to dislike their own lot. But the most stimulating successes
in history have come from persons who, facing some kind of limitations and
handicaps, took them as part of life’s game and played splendidly in spite of

them.
D the things they've done @ all the things they do
@ what had been done @ what they would do

(® which would have done

o1 7

RE Z 4 MR AAAAE AbEsta ok AR EZC A G 2¥
(they never make anything worthwhile out of themselves)el] Zrqlslo] =g

FE3.
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6. Which of the following best fits in the blank?

How many people hold power in a society, and how they exercise it, are
eternal themes of political debate. At one extreme a single person rules.
Such a system is usually called a monarchy (Greek for 'rule by one') when
the position can be inherited within a family. It is likely to be given such
names as tyranny (from examples in Greek history) or dictatorship (from
Rome) when power is seized by or granted to an individual member of
society. The other extreme is democracy (Greek for 'power of the people'),
in which theoretically every adult can influence group decisions. Such an
egalitarian approach 1s familiar to anthropologists, studying the customs of
small tribal groups, but it has been a rarity in more developed societies.
Between the two extremes is oligarchy (Greek for 'rule by a few'). In a
sense all early clashes between oligarchy and democracy are an argument
over , with democrats pressing for a higher figure than oligarchs
can accept. Even in Athens, where sophisticated democracy begins, only a

small proportion of the community can vote.

(D where to start the most sophisticated society
@ how to build a more developed society

@ when and where to stop monarchy

@ who will seize the power in Athens

(® how many to include in the few

i = AAAY Wl vFo BAY F2 FAR LA FuiAdd E3(with

democrats pressing for a higher figure than oligarchs can accept)el] H]Fo]
Hol AAg & I F slth

o]  hold power : FHE Foh(Fetstel)  exercise @ WYAFsIch  eternal ¢ o HgH

3

monarchy : TF A () inherit : A5ttt B8ttt tyranny 0 X, A
A dictatorship : ZA  seize : Fr}, Aetsltt  grante @ Fr}b, §-&stt)
egalitarian : ¢1F FHEF 29 9] (x}#) anthropologist : ¢1F&A  tribal : &

o], AF9] oligarchy : IFA, FFHA clash : &, A% press for : A%
QS F38bt}  a higher figure @ Bt} B 4 oligarch : 3IFA A u) &},

q
ZAR e AR IHFA A A A sophisticated : AmdF, A5, B A
=

o] g At3lellAM dHE A aAe] ogA YA A=
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7. What is the passage mainly about?

Originality, then, 1is what distinguishes art from craft. We may say,
therefore, that it is the yardstick of artistic greatness or importance.
Unfortunately, it is also very hard to define what originality is. The usual
synonyms such as uniqueness, novelty, freshness do not help us very much,
and the dictionaries tell us only that an original work must not be a copy.
Thus, if we want to rate works of art on an “originality scale” our problem
does not lie in deciding whether or not a given work is original, but in
establishing just exactly how original it is. To do that is not impossible.
However, the difficulties besetting our task is so great that we cannot hope
for more than tentative and complete answers, which does not mean, of
course, that we should not try. Quite contrarily, for whatever the outcome of
our labors in any particular case, we shall certainly learn a great deal about
works of art in the process.

@D Though incomplete, it is significant to measure the degree of originality in
art.

@ Originality can be applied to measure artistic value in a relative way.
@ A work of art is original as long as it is not a complete copy.

@ The task of establishing originality scale is not worth pursuing for practical
reasons.

(® The inaccuracy of originality scale is greater than the benefit of using it an

yway.
A EHFEo| o] Fo HEFo| dddt. o] A4 dF3sE in the process®
a2 SkellA FAASRE AFT o= AFo] Adwht FFAHAAE FHFEle
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8. Which of the following best fits in the blank?

wash your hands copiously, and

Flu 2018 panic is in full swing, and with very good reason. Already termed
“‘moderately severe” by the Centers for Disease Control (CDC), indications
are that this flu season will only get worse, and the flu has claimed the
lives of at least 30 children (and many adults) so far. Meanwhile, a new
study from the University of Maryland reveals that the flu virus doesn’t
require a sneeze or cough to become airborne; it can spread simply through
breathing. You already know to get the flu shot (and it’s still worth getting),

if you're sick so your flu is

not contagious to others. Now, concerned folks are taking prevention a step
further, donning surgical masks—both to avoid getting the flu and to prevent

the spread of the flu they already have.

@D fly off the handle

@ keep a low profile

@ beat around the bush

@ hear it on the grapevine

® cost an arm and a leg

3

(1) 58S vel= HaEel so (that) your flu is not contagious to others
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9. Which of the following is the most appropriate title of the passage?

In disrupting ecosystems, light pollution poses a serious threat in particular
to nocturnal wildlife, having negative impacts on plant and animal physiology.
It can confuse the migratory patterns of animals, alter competitive
interactions of animals, change predator—prey relations, and cause
physiological harm. The rhythm of life is orchestrated by the natural diurnal
patterns of light and dark; so disruption to these patterns impacts the
ecological dynamics. With respect to adverse health effects, many species,
especially humans, are dependent on natural body cycles called circadian
rhythms and the production of melatonin, which are regulated by light and
dark (e.g., day and night). If humans are exposed to light while sleeping,
melatonin production can be suppressed. This can lead to sleep disorders
and other health problems such as increased headaches, worker fatigue,
medically defined stress, some forms of obesity due to lack of sleep and
increased anxiety. And ties are being found to a couple of types of cancer.
There are also effects of glare on aging eyes. Health effects are not only
due to over—illumination or excessive exposure of light over time, but also
improper spectral composition of light (e.g., certain colors of light). With
respect to energy wastage, lighting is responsible for at least one—fourth of
all electricity consumption worldwide. Over illumination can constitute energy
wastage, especially upward directed lighting at night. Energy wastage is also

a waste in cost and carbon footprint.

o]  disrupt : &

D How to Reduce Light Pollution for Better Ecosystem
@ Light Pollution Rising Rapidly on a Global Scale

(@ Various Diurnal Patterns of Light and Dark

@ Importance of Light to Human Health

(® Inimical Effects of Light Pollution
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= falsk(adverse, inimical) 9SS dutAom AAs T 9t}
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10. Which of the following is the most logical sequence of the four parts to
complete the passage?

Long before anyone suspected the existence of genes, farmers recognized
that the traits of parents were passed down to their offspring, and thus they
could improve the yield of the pumpkins or the size of pigs by selectively
breeding the best specimens with each other.

[A] Both approaches assume that nature and nurture are implicated in
shaping our behavior, thoughts, and emotions. This trend is bound to be
magnified tremendously in the next half century as a result of advances in
genetics.

[B] Currently two of the liveliest branches of the human sciences are
behavioral genetics, which tries to ascertain the degree of inheritability of
such behavioral traits as schizophrenia, propensity to divorce, political
beliefs, and even happiness, and evolutionary psychology, which searches out
the mechanisms by which these traits are selected and transmitted from one
generation to the next.

[C] Most of these practices were hit—or—miss, without any foundation in an
understanding of how different traits are transmitted from one generation to
the next. But this situation is about to change dramatically in the coming
decades.

[D] Although few important traits are likely to depend on the action of a
single or even a few genes, some genetic engineers are confident that the

ear of “designer babies” is at hand.

@© [A]-[B]=[D]-I[C] @ [BI-[A]-[D]-I[C]
@ [BI-[CI-[A]-[D] @ [C]-[BI-[A]-[D]
© [DI-[A]-[B]-IC]

A 4 [Cle Most of these practicesoll A o] & TP ESo] A A|Fol|A vhelebyt
JY =S AATE Folslof g}, volrk [A]S] Both approaches®t [B]9] two
branches& d7Zd| A 2§ ztsf of ghu}.

o]  pass A down to B : AE BeollA A&ttt offspring @ A, A&, 3o breed :

(F35<) M=sied, whEofuith,  WAA]7|th specimen @0 XE, AR
hit—or—miss : F&AA( == 2)Y(random), £&3 3=, FFYT

behavioral genetics : &F53 ascertain : #<elsttl inheritability @ A
(A<) 754 schizophrenia : £¥YW, FHARAZ 7

evolutionary psychology @ Z13tA1 28  implicate : #FHXA] 7|}, $L&HEA 3

propensity : 4338k,
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11. Choose the one that is grammatically correct.

D Students apply as much commitment to the extracurricular activities as they
do to their general subjects.

@ She was born in the Addis Ababa province of northern Africa, an area kno
wn as its spectacular vistas.

@ It never too early to start caring for the land you live and grow up.
@ He had few winter clothing when he arrived at the camp.

(® He reads storybooks to children who don’t access to TV.

e O ™AE va 2H1E ol &g Aow HAZ TAo|th
@ an area known as = an area known for
@ the land (which) you live and grow up = the land (which) you live in
and grow up In
@ few winter clothing = few winter clothes

® don’t access to = don’t access &< don’t have access to

A9 @



12. Which of the following best fits in the blank?

Contracts between American India groups and Europeans resulted in
borrowed vocabulary, some groups borrowing very little from Europeans and
others more; European languages also borrowed terms from Native American
languages. The type and degree of such linguistic borrowing has varied
greatly, depending on sociocultural factors. For example, among the Karuk of
northwestern California, a tribe that suffered very harsh treatment at the
hands of Anglo—Americans, there are only a few loanwords from English;
for example, apus ‘apple(s)’, and a few adaptations based on English; thus
‘pears’ are called virusur ‘bear’, because in Karuk the p and b sounds, as in
English pear and bear, . A large number of words for new

items of acculturation were produced based on native words—e.g., a hotel
being called amnaam ‘eating place.” Native American languages have
borrowed words from Dutch, English, French, Russian, Spanish (called
hispanisms), and Swedish. American Indian languages, especially names for
plants, animals, and native culture items. From Algoquian languages English
has the words carrtbou, chipmunk, hickory, moccasin, moose, 0possum,
persimmon, powwow, racoon, Skunk, squash, tomahawk, totem, wickiup, and

others.

@ are not distinguished

@ do not exist in Karuk

@ do not occur both in ‘pear’ and ‘bear’
@ are produced by the lips only

(® are placed in word—initial positions

sid (1) 29 Zolut AAl W&ol vlal H& e A2 vy g dojr ®E

o] linguistic : 1]& <&l depending on sociocultural factors : A}3]E3AQl 84
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Eol welA  harsh treatment : 7}&3% *-$ adaptation : BS, A, &5,
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st W, £3td AL, (of=le] AR A L) 438t v) acculturate @ thE
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= %= pear®} bearol Al M ¥ pel b AE|7F FHEZA 7] wiZeolth 3} W

(acculturation)e] W& AMEE ZAEL T Y3t B F9 wlo]Eo] EF

o] Eell 7|E3ste] RtEF =, dE Fo], ¥ 'eating placeE oH|sl=
amnaameo| Elth EE ofwlg]7t odo]= yelso] oo} =mebro] ] A|o}o],
23 ele] (3]~ ﬁﬁuolﬂh- E‘)gl ol s, 53] AEE, %%%, gzl #8Hel

& ko 2 9lwlo}. obw |7k Qlt]el <o

TE % E&‘ w3t 52 o] F. Algoquian languagesell#] <deol=
caribou, chipmunk, hickory, moccasin, moose, opossum, persimmon, poOwWwow,
racoon, skunk, squash, tomahawk, totem, wickiup % 7]e} wo]EL (A&3))
Ao gleh

@®

13. Choose the word that best fits in the blank.

It is incomprehensible that the tax codes should be such a(n)

instead of a straightforward bracket based on gross earning, notwithstanding

deduction.
@ increment @ qualm
@ labyrinth @ boon

(® simplicity

Gl

o) 7

instead of a straightforward bracket® HE2& X3 W&

straightforward®t whej e} Hitf o|w| & Zh= W A}7} Sof7fof ghe}

It is incomprehensible that the tax codes should be such a labyrinth : w]&
(K%), w2 (maze), FHd E3T A instead of a straightforward bracket
based on gross earning, notwithstanding deduction.

AYEL FAdE BTt 5 FHol AT tedd g B7ol tfile] 1
gk wlgo] wofof Fri= ARAL ol & YTt

©)

at}.

A




14. Choose the word that best fits in the blank.

as they are the most hurtful to hear.

Sometimes the negative criticism of a loved one becomes the more

D disparaging @ relenting
@ exquisite @ scrupulous

(® disinterested

14 as(= since)7t FESI= 58 FEL I JAE olE

o]  disparaging @ ZXRE (=g, v|dst= (=3%)  v) disparage @ ZHE3lth
relent @ (Wbgr Fol) ksl A}, AFag oA}, Fael A, FL5HA4 A sl
7} Al o1 7]l exquisite : BHEE, Aw|dk Awdk X E£F3I scrupulous :
FWe, WHeh FEe, oA A, AAG AFeE  disinterested  AFEeo] 9l
Aeeh FHs

15. Which of the following best fits in the blanks (A) and (B)?

Retailers have long been wusing online channels to make up

introduced Lime Beanpole, a series of products sold only on its website.

(A) sales at their brick—and—mortar stores, but recently,
they've taken the shift to another level, introducing products
(B) for online. The trend—conscious fashion and cosmetics
sectors are at the forefront of this new strategy. Beanpole Ladies recently

(A) (B)
@D tentative simultaneously
@ sluggish exclusively
@ annual optionally
@ estimated temporarily
(® skyrocketing increasingly

2 (A) make up fordh E¥el| oj&el= FAAHA ovlE Ze FEA7F Solzioh
H

7
(2) mpxR| 2 HE2 9] sold only on its websiteo] o]&z|l= HAl7} Sof7tr}.

o] retailer @ AvjAH, Al A make up for @ BE(H%)ST}  brick—and—mortar

D (APAD) avhe), e =ekel Aol take the shift to @ ~olZ o] F(HEH) st}



a4

A

exclusively : WlE}A o2 XA S F  cosmetics sector : 3}AE= HE  be at
the forefront : A5 (%)l At} strategy : AZF tentative : FHH

Al simultaneously : EAle] sluggish : A& Jejdh, E#bo] =8 Rx|gH
E7 719 annual : st skyrocket @ H3] Asattl, 38 Fdlstch, (7}

ws)7) 75 s}

t}. Beanpole Ladies= Z/ $ Aol
Beanpoles 4738l t},

@

16. Choose the word that best fits in the blank.

Imagine that you are holding a rubber band. Now begin stretching your
rubber band by pulling it to your right. This particular rubber band can
stretch twelve inches. When the rubber band is stretched twelve inches

there is nowhere left to go back.
@ but @ to
@ as @ for
(5 against
3l -d  there is nowhere left to go but(= except) back : H&S Asl1e 2 F2= X

o]

a4

o] ik, Bolrbe sutel ith
rubber band : IZF W=

IF WMEE E31 9
HBH Rk o EXTl =4
ol w HEolrtes AL Aslzes Z oE
oh).

@




17. Which does the given sentence best fit in the passage?

A look at U.S. history reveals a succession of dominant ideals.

(A) We often categorize periods of history by a specific “look”, or ideal of
beauty. (B) Often these relate to broader cultural happening, such as today’s
emphasis on fitness and toned bodies. (C) In sharp contrast to today's
emphasis on health and vigor, in the early 1800s it was fashionable for
women to appear delicate to the point of looking ill. (D) The poet John
Keats described the ideal female of that time as “... a milk white lamb that
bleats for man's protection.” (E) Other past looks include the voluptuous,
lusty woman that Lillian Russell made popular; the athletic Gibson Girl of

the 1890s;

@ [A] @ [B]
@ [C] @ [D]
® [E]

i AATZoll A2l history®h whofell FEFr (O olstel A A2 AR e of gl

Aro] AlEE e Aol wlFo = A2 5o vhAY £42] Other

past lookszh= X & o] AA A w7} e},
o]  categorize @ WFIH(FEF)set  toned body : ®FEA=(E
tone the body : (#F<) 7F7ul, ®ebsHA dle} reveal : =

t} a succession of dominant ideals : L& Z|ujA <l o]

7}
2

)\OE

g8 Ay delicate : 7hEFE, 3] 2F3H(frail), (71& So]) 7MA 7] #E(fragile)
oF.od
[o} =

o]z &
Holt}, F=za}

vigor

cf.

271,

milk white : $F B s}kl lamb : 1% oF bleat : (A FotA 7))
of &t} AMAEYTH = 48 E strd, F@sltt  voluptuous : S7HA Eaincis
lusty : &3 733 7] 93, &8k athletic @ +5& Z25t=, AP ol
£ Gibson Girl @ (Zle] &3 &vi7} 2™ )7t 7h= 535 ) FSA] 7
Y

A (A) ofFutEe A "91‘*(9]“)" T O]*Lolﬂ 71l oA frle &3

A%t 2 bzl vy

o
N

e =l g o5 Ax A

(C) [M= qAHE AR d- o xwjA o dEo] =ajydeh] 5o 27t
gedo] FHS F ANE RAHOFE 1800 EHF o Eo] Wl & Hrw
7HA s kgt AT Kol Zlo] Faolgitt (D) Al John Keats(ZE HESR=
I FAe] o]kl S "L AN BEE A S & < u 3
o2l o'zl B AT (E) D}T_E— A9 R EL Lillian Russell(a] glek #HA)
of fiFAor vtE Fubtsta &3 oA, zelal 1890t A He] F2 A
<A vy E 23k




18. What is the passage mainly about?

The distinctive long curls that Jewish men wear as sideburns, or “sidelocks,”
are called payots, a Hebrew word that translates into English as sides or
edges. The Holiness Code in Leviticus 19—27 forbids the shaving of the
corners of the head. Different sects of the Jewish religion put their own
flare to payots. The Yemenites call them simanim, which means signs,
because they differentiate them from Yemenite Muslims. They wear long,
thin and twisted locks, often reaching to the upper arm. The Skver (Hasidic
dynasty) twist theirs into tight coils and wear them in front of the ear. The
Gur raised their peyots from the temples and tuck them under a yarmulke.
The Lithuanian Jews often leave a few short strands uncut and tuck them
behind their ears, a style most commonly found among yeshiva students.

D Jewish sideburns have endured thousands of years.

@ For many Jewish men, sideburns represent the epitome of masculinity.

@ The Jewish religion places great emphasis on honoring the Holiness Code.

@ Different Jewish sects reflect varying responses to changing times.

(® Different sects of Judaism have different sideburn styles.

Gl

o]

a4

(1) 3% (Different sects of the Jewish religion put their own flare to
payots.)e] o] ¢ FA|Le|c}

(2) ol Feiae 7t FutEg AASIHA 27 o] Fdste] Aysia ol
=

distinctive : F5%, Solg, o] £He curl @ ZFHE, H, FEW
Ae} sideburn @ ARE, &S FHlvE Holiness Code @ 2%, 44
Leviticus : @ $7] sect : $3 flare (AAE-EHF o YTE Hofkog)
A, Felo], vEubA] tuck @ H () b yarmulke @ (BE 3 FA A
7|=& wjr} TorahE He ® 2v) A2 574 strand @ 7V, @& 7FE9 AL
A, (MElE9]) & vyeshiva @ &5 = &, o|Av}  endure : A ¥t} A&

stt}, &t} epitome of masculinity @ FAA S A (AY) reflect : HHA}gT)

=
=
TFEAFE) TRHE Yu|ddt, 252 Z3 stEx med (Ml 25E )
=z =
[}




e sl wwbeh Zde] A Al B aASS 7 GFel FHEIrt o
(Gur) &2 AHdellA AAES] dol S Se|las IAES ofdolete F4
(varmulke) el Ay Yerh gl Foleole] FHlES &3] 2 £9 @2 £

< A L, o] A2 dAlvH(EF

19. Which of the following best fits in the blanks (A) and (B)?

Aristotle outlined two kinds of common friendships that are more accidental
than intentional. The first is a friendship of utility. In this kind of
relationship, the two parties are not in it for the affection of one another,
but more so because each party receives a benefit in exchange. Similarly,
the second kind of accidental friendship is one based on pleasure. This one
is more common in people that are younger. It's the kind of relationship
frequently seen among college friends or people who participate on the same
sports team. The final form of friendship that Aristotle outlined is also the
most preferable out of the three. Rather than utility or pleasure, this kind of
relationship is based on a mutual appreciation of the virtues that the other
party holds dear. Beyond the depth and intimacy, the beauty of such
relationships is that they automatically include the rewards of the other two

kinds of friendship. They're (A) and (B)
(A) (B)

@ virtuous intimate

@ affectionate durable

@ beneficial pleasurable

@ accidental intentional

® utilitarian devotional

A EolA &4 EFol YEld the rewards of the other two kinds of friendship
< 2 utility(£-8)3 pleasure(EA %)= A At oty RE F Fio= ol
F walel dhojrl gt el E wpb w(utility — beneficial; pleasure —
pleasurable) o] &of7}of g},

ol  outline : & (FEE) 2|t WAsich, W8 E Wslrl  accidental @ -3k
kA 9l utility @ Z&27} 902 (usefulness), %, #, &%  mutual
appreciation : A 22 o|38] hold ~ dear : ~= HAZF3sH 7]t} intimacy :

AWt virtuous @ YA A# 2 affectionate oA o]#  durable @ A7,



Aol Zbel  utilitarian @ FE| Al A A (AEA)ql,
SRE]

f
= devotional : &AIAel, HAFsl=

e ofeliEEHAE oAl AR A F bR F¥@e 2 +As A
ek A MAe AR (A8 FAYY ol FF2 WA, F AR
© Az A= sl AR 2L UA FAR, A4 dabAe A ugdHoR
olels d=rh olgt FAtetAl, FAY A F WA Fre E7wel %
Aotk o] A A2 AbEEelAAM W dRbAe|th IS Aot e A
22 Hel FA7bsks AbgE Atolell A AF & 5 Qe WAlol) ofe| AR A
7 AT FHF e A2 o] Al 7HAl el bR wbE A7 Aol
ol# g F5°l %74]% F&olvt EAZol| Bk Aol AFsAl 7=
Y&l Wg A4 A 7|2 FHolet AWAE W), 28 BAES of
oS 2Asel EP% TR BAE Asor xFerie Flo|th 1AES
Fsta Al £471% et

et )

20. Which of the following is different from the others?

reverend fighting with local nuns.

A dispute between (A)an American priest and a group of Kenyan nuns over
two major hospitals for the poor was resolved when the nuns stormed one
of the hospitals late last week. “They stormed the hospital in the morning.
The sisters came with a contingent of police officers and other civilians. We
are now handing over. It's all peaceful,” Reverend Bob Silvio, (B)a chaplain
in the hospital the nuns retook Friday, told Religion News Service. The
Assumption Sisters of Nairobi had been in court for over six years fighting
Reverend William Charles Fryda, (C)a_ missionary who helped found the
church, for control over the two buildings. Fryda argued that the hospitals
were his because (D)he founded them with money he raised, but the nuns
countered that the idea to build the hospital was theirs. The case garnered

widespread media attention in Kenya due to the spectacle of (E)an American

@® (A) @ (B)
@ (©) @ (D)
® (E)

dd o] &
1% 7 a chaplaing A3 yHx HAES BF 1+9

7F2]Zlth. (B)9] a chaplain® Reverend Bob Silvio%} &

< o= ms AR & Fele] Ad FUE Aol =AS

ohF 3 e

an American priests

[e]
A%

o] %1

e by




ofF  priest : A&, FAR AR, ARl nun ¢ Y storm 0 AFsch, F4 5k
sister : 4, A|2~¥ contingent : EAW (), FA tfEY retake : ot
Al Fbe}, E| 3t} ®3ksitt News Service © S41AF Assumption Sisters @ 44
oA o] 2  missionary : AxAl, AEAF raise : (52) ntH(2g)sior, 2EF
sttt counter : HEAS Y, A FEltt garner @ E 2 th(collect), FHA sk

spectacle : 37, (28 2F) +7H A=, & reverend : AR A, HA}, AF

A b AlEES A F oY F8 HHAE e o= wa AEe} g FEl9
Ak FUE Atelo] =R FU7L A F =4 HY T 3 S F53E o
A=t "IES obfel WS FHUL FUES AF A o E 7
ZHlE3 A $toh fEle As (8 #elAS) 9712 odch 2AS AA-e
2 Hitagoh"gta FHEe] g8 Yo EE ARG W ARl wiF Anje
(Bob Silvio) A1%#7F F 1 F41AH(Religion News Service)olAl =3t} 1vho] Z 4]

Assumption Sistersv= I3 E AHHsed =S FUW Auwkel William

Charles Fryda®t #9941 617 7 A& gk A Al 25F& Holgheh
:

2% dA FUsH Afe vlwm AR FA(FAEA) 2R QlalA Akl A
PHs g FEE Wkl
yah=s @

21. Which of the following best fits in the blanks (A) and (B)?

The current 1987 Constitution declares South Korea a democratic republic
and establishes a presidential system. The President, who is elected by
nationwide direct ballot, is the head of state and serves a single five—year
term. The President appoints public officials, including the Prime Minister
and heads of executive agencies. The appointment of the Prime Minister
must be approved by the National Assembly. Other members of the State
Council are appointed by the President upon recommendation of the Prime
Minister. The Constitution (A) legislative power in the

National Assembly. The President may attend and address the National
Assembly or express his views by written message. The National Assembly
also deliberates and decides upon the national budget bill. When the
Executive plans to issue national bonds or to conclude contracts that may
(B) financial obligations on the state outside of the budget, it
must have the prior concurrence of the National Assembly. Further, the
National Assembly gives its consent to the conclusion and (C)

of treaties, declarations of war, the dispatch of armed forces to foreign
states, and the stationing of alien forces in the territory of South Korea.




the Prime Minister

total members of the National Assembly,
concurrent vote of a majority of the total

The National Assembly may also pass a recommendation for the removal of

or a state council member from office. Such a

recommendation for removal may be introduced by one—third or more of the

and must be passed with the
members of the National

Assembly.
(A) (B) ©)
@D reserves neglect endorsement
@ vests incur ratification
@ dissipates denounce convention
@ commits discharge revocation
® bestows defy condolence
sl (1) (A) legislative power in the National Assembly : ¥ #H &
= 3lo]| “Fofsirtiets ojm| b Eofof ghrt
(2) (B) financial obligations on the state : =7}l il A A
9] F(financial obligations on the state)E “Z#slcl’el= gu|E 2= whol7}
Sol7tof ghr}.
(3) the conclusion and (C) of treaties @ o] F& “Zofe] A4
I} v|E"o|gt= ol =|ofof gt}
o] direct ballot : A FXE the head of state : =7} 214  executive agency :
A7/ vest 1 Fogstr}, Holsttl  legislative power @ 4 deliberate :
Z 3135ttt national bond =AY dispatch i) station FEslrt
conclusion : (Z&<¢F w¢]2) A2 removal : A A, 319 state council : =F3]
9] concurrent : FA ()], HHe, YA, AT reserve ! FHEIT H
535ttt endorsement : HlA, 52l Alel vest @ (HElE) Fub, i}, Hof
sttt incur Byrwt-9)3S) E=#sttt  ratification v & (HEHE), Alal
dissipate @ (Z§4F w9 E) ulstet, ©F 4 w2|ch(waste) denounce @ (¥
3) wuksich, weslo), wiEelcl  discharge : (o}FE) sl dsl), & aslc)
(dismiss) revocation @ F|4&  bestow : FoIstt} defy @ EAsIcH (A9 &
of ) Rbgsiet, (& welE) FAlstth  condolence : oH:, (FF pl) £, £
Al
A AL 1987d A2 e & WIFEFY FEmo® Addsta HEsH AAE
getoh A=Al AR FREE AEFY He®S 71 Aol 59 7R B
b e Ee SeElek AN VIHe AEE 2§ FhASs JdHEd 25%
2] o] W =319 FlE dojofdtth 3o e thE $HE | FHOE
el et FHS YHAS F3|of Foddrh tEES T3] FA s}
o ddg AU 29 AelE Aoz T § drh. F3)= =3 F7L o4




g Alolslz ARt BRI FAE WA A4 o Fohol e A
A o Rl wAE & ool Aote Adstels Agel F3ol AW FoE Ao
of @tk wh, sl mob A W ulE, A4 I FE Aol By Y B
AE o)Al o= Toje wAle] Seldt. wiE FFFe we FF 99
A AL AR 4= ook 2e)@ sldel AnEe F3) HA TAD 3
2e] 1 oabo] ol 4 glon] %3 MA o9l Hurse] Hyo EEofo}
do}

@

22. Which of the following is closest in meaning to the underlined expression?

These days, big data, artificial intelligence and the tech platforms that put
them to work have huge influence and power. It goes without saying that
when computers are making decisions, a lot can go wrong. Our lawmakers
desperately need this explained to them in an unbiased way so they can
appropriately regulate, and tech companies need to be held accountable for
their influence over all elements of our lives. But academics have dozed off

at the wheel, leaving the responsibility for this education to well—paid
lobbyists and employees who've abandoned the academy.

@D have been impudent (@ have been watchful

@ have been superfluous @ have been incapable

(® have been unmindful

3

o1 7

a4

doze off at the wheel (= be asleep at the wheel) @ #lo|t} oo F&3}
7] ¢ch(fail to attend to one's responsibilities or duties) cf. doze(nod) (off)
at the wheel (while driving) : £3%4% sttf

put ~ to work : ~°|A A5 A7}, FEstA stel It goes without saying
that ~ ¢ ~gtx2 43 Hdax gt} go wrong : ZE=Ett lawmaker : $JH 7},

2]l desperately : BA35A  unbiased @ AYA(HA)o] 9=, FAHE hold

~ accountable for : o Wjal ~oA HUE & abandon : 27|3tth, ¥ g
o} impudent : A<E3g, A1538FA %3+ watchful @ ZAA S+ superfluous @ &
=, w9, #o, EFasg unmindful @ FACH FFoleh FRAg
(regardless)

8x25 Z oy, ¥ A5 2 2AES AL dlF= Ha FYFol A
b odgy ) e w3t sloh ASFETE o4 AAES HE o W Zleo] Ax
=2 5 a2 BE Ut ok w7l b ES AASA AAE F UES HA
R AloE o] AAE AWE AASHA "8 E s e IrEe HY B
Q4o tig ddHe s AUS Aok stk 2 FAES Al AHE
27 3A, AEE e EH2ESI s 27|g A[AENA o] wSel




23. Which of the following is true, according to the passage?

Britain’s cotton industry grew at pace throughout the Industrial Revolution.
Cotton was introduced to the country in the 16th century and by the 1700s
it had changed the way people dressed. To keep up with increasing demand,
cotton mills sprung up across Britain, especially in the north of England.
Thanks to the water coming down from the Pennines, the North of England
developed a thriving cotton industries. The fast flowing rivers coming down
from the Pennines provided the power supply for the factories, although this
would later be supplied by coal power. It also provided fresh, clean water
with which to wash the material. Liverpool also boasted a thriving cotton
industry thanks to the strong transport links through its ports. In 1774 a
heavy tax on cotton thread and cloth made in Britain was repealed, further
boosting the cotton industry. Furthermore, numerous inventions and
technological development transformed the cotton industry, in turn helping to
establish the UK as the cotton ‘workshop of the world.” One such invention
was the ‘TFlying Shuttle’, which was created by John Kay in 1733 and
enabled cloth to be weaved faster than before. Another was the ‘Spinning
Jenny’, which was created by James Hargreaves in 1765. ‘Water Frame’,
patented by Richard Arkwright in 1769, embraced waterpower, but it also
produced a higher quality thread than Hargreaves' spinning Jenny. Thanks to
Crompton’s ‘Mule’ in 1779, and Boulton and Watt's steam engine a few
years later, the industry was changed dramatically.

(D During the 18th century, cotton changed the way British people dressed.
(@ Strong transport links at ports made Liverpool suitable for cotton mills.

@ Levying heavy tax on cotton thread and cloth in 1774 jeopardized the cotto
n industry.

@ Higher quality threads were spun by ‘Water Frame’ than by ‘Spinning Jenn
y.

(® England’s cotton industry dramatically improved due to Boulton and Watt's s
team engine.

A @He WEL EFE(In 1774 a heavy tax on cotton thread and cloth made in

Britain was repealed, further boosting the cotton industry.)2] W&ol oyt
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o},

at pace : W2 £ % F (at fast pace) spring up @ & el A7) A AL

t}  thriving : WHASIE  repeal @ F 435ttt # A stk (rescind)  boost : (H-
Wol| 4) Wol gt} S7HEW) A 7|t numerous : tHF9Y, £%E&  patent :
E35(E Fh(dr})) embrace : g3l WolEo|rl  steam engine @ 5 7]7]
S

dael Bu 4bgd 2 Ay ¥ S SalA wmbE SEE AT FHE 164 7]
of vietel EqiEglom, 1700 el = AbgEo] 25 = WA ol uHd F
7bebs 8ol W B o A, 53] A5 HFel WA FAo] AANL ¥
vel 4b (Pennines)ol| 41 &Feo] Welel o5 HiE= HAste W3 4agdS WA
AlZdet sivkel Abel A e s wmEA s2 &5 72 el AR A Lo ¢
3l FFalF WA FAe A FEE AFHch 1A =3 2AS AE
T e AAdE s AR =& AFdch gHES =23 g+E5 & A
2E AF Hie wWAstd W3t Abge ARl 1774l of el A Az
WAkl Holl Hxgh Algo] #H A =o] B abgio] 5 FAE G T So] FH
- WHES 7le NEE 5 Aol WstEglow, oWl xS W3
AL dETR FYPAI|=d =S Foth 28 WHE 5 shve 17339

& Zlel(John Kay)7} Z<t & '&ete) ME(H2+ ! Flying Shuttle)'o] 512w
oldxct Hxl W] AES H94E& F odsdrh 1765 A YA stz B A (James
Hargreaves)”} et 3k 'A234d Ay (5 WA 7] Spinning Jenny)'= 4%

17694 2]H = ofzete] E(Richard Arkwright)7} 535 ®skd '8 =& ¢
(78 WA7]: Water Frame)'= +8& WolE 9 x|nt stae|B A9 A3y A
Hop 2 A9 AES Ao 1779492 Crompton?] 'Mule's 2238 &
el At 9] Boulton?t Watte] 57] A H&el A2 S5 upo sieh,
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24. Which of the following best fits in the blank?

An evolutionary perspective leads one to view the mind as a crowded zoo of
evolved, domain—specific programs. Each is functionally specialized for
solving a different adaptive problem that arose during hominid evolutionary
history, such as face recognition, foraging, mate choice, heart rate regulation,
sleep management, or predator vigilance, and each is activated by a different
set of cues from the environment. But the existence of all these
microprograms itself creates an adaptive problem: Programs that are
individually designed to solve specific adaptive problems could, if
simultaneously activated, , Interfering with or nullifying each

other's functional products. For example, sleep and flight from a predator
require mutually inconsistent actions, computations, and physiological states.
It 1s difficult to sleep when your heart and mind are racing with fear, and
this is no accident: disastrous consequences would ensue if proprioceptive
cues were activating sleep programs at the same time that the sight of a
stalking lion was activating ones designed for predator evasion. To avoid
such consequences, the mind must be equipped with superordinate programs
that override some programs when others are activated (e.g., a program that
deactivates sleep programs when predator evasion subroutines are activated).

@D enhance each program’s functional product

@ evolve to solve all the adaptive problems at once
@ ameliorate the functions of all microprogams

@ come out with mutually harmonious results

(® deliver outputs that conflict with one another

A (1) ¢ 2E F HEo|AE= the existence of all these microprograms itself

creates an adaptive problem™ T#E FalA A AS A A dch(wzt

Al HE A FEAAME o]H FAA A AdE AAHT BH(®)e] Fo7tok
).
(2) o]ojA] o' EA tigt o E 31, vol7l AEE] HFTAME FHI
Fs ZdHsle BHE Agsld ZAE dEsr] felAd AAle] SHEA
(superordinate programs)< ZtFojof gty FAsln gl
o] an evolutionary perspective : #1824 A (A]Z}) domain—specific programs
ZF g (=rq)ell FAA] ZE3%  hominid ¢ 15, dFe BAH(AS <

2o wA 7} ¥ A #Holv} TE) face recognition @ QFHelAl  forage @ &, w}
Z; mp2E Ftotrhdch, wh H Ao Ztrh predator vigilance @ EAIA A
activate : A 3}lslt}  simultaneously : BA|H 2  nullify : F&&2 st} 3}
71(F &)k}, F7EAISHA wbEoh  flight from a predator @ EAAZHE O &
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% mutually inconsistent : A2 ZE=(UAEHA] &)  physiological state
© AelAEl  accident : AFZ, % o disastrous &3, AFe] ensue @ 9l
w2l A2 Aol proprioceptive @ IS FE([EHF Z

3|  be equipped with : ~e¢| &A=t}  superordinate : A%l 2] override @ A
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25. Which of the following is true, according to the passage?

at

Humans are notoriously bad at resisting temptation. Our tendency to value
the pleasures of the present more than the satisfactions of the future comes

a considerable cost. Walter Mischel suggested with his famous

marshmallow experiments with children that those who can persevere toward
their long—term goals in the face of temptation to do otherwise are best
positioned for success. This view of self—control, however, is wrong. Recent
studies show that not self—control but pride, gratitude and compassion
reduce the human mind’s tendency to discount the value of the future, and
help people succeed in life. So, cultivate these emotions. Reflect on what
youre grateful to have been given. Allow your mind to step into the shoes
of those in need and feel for them. Take pride on the small achievements

on the path to your goals.

D Few people succumb temptation.

@ Pride hampers successful social interaction.

(@ Marshmallow experiment findings are upheld time and again.
@ Appreciating the value of the future is linked to success.

(® Walter Mischel correctly characterized successful children.
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